























RATIO AND PROPORTION
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CLASS EXERCISE

consist of 1 rupee, 50 paise and 25 paise coins, whose values are in

theratio of 13:11:7, the number of 50 paise coins will be : g 378 a0 1
B, 50 T 31 25 Tt 3 Firarn YTITReT 8, FoTe 9 13: 11: 7 3 a1 £, a1
50 % 3 ferernt st @A gt

(a) 132 (b) 128  (c) 136




If 1360 coins consist 0f_1_l'2£ee, 50 paise and 25 paise coins,re in
the ratio @e number of 50 paise coins will be : afe 1360 THaent | 1
EU, 50 TH 31T 25 09 o f&reh WA €, Toeh 9od 8:16: 7€samna&% At 50
ériy 35 et 61 FreET F7: ‘P lagh P
(a) 132 (b) 128 (c) 640 (d) 133  (e) None oft

A ovth 2 O3y




In a bag there are 3 type of coin in thejratio 1 : 3 : 6 of {he denomination of 25

paise 10 paise and S paise . if total worth of these coins are 170 then find
numbero @ﬁﬁmﬁz%onﬁmsw
U o 3 W o [Haeh ¢l A1Q 37 [Hahl Shl Shet shivd L20 7 @1 5 99 o forass &t
o iS5

(a) 1320 (i /(e) N n@these
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In a wallet the ratio of 25 paise , S0 paise and one ruEee coin are in the ratio

12:4 3 which amount to[600 rupees). find number o aise coin ? Ueh U q
25 aa, 50 & 3fT U HUT S <h ST AU 12: 4: 3 % ATITE § 600 S &1 25

wmﬁﬁﬁmmaﬁﬁm
(a) 300 (b)380 (c) 900 (d) 400 (e) None of these




Based On(Income & Expenditure






The ratio of incomes of two persons are 4: 3. if the ratio of their expenditure
are 12 : 7. find the income of both person if each of them sav a1 saihal
<l AT T AT 4: 3 ¥, 37 @ 1 AT 12: 7 71 AfE S0 7 & Sedah 12000
TATd & A1 ST SAT*h chi AT FTA hi?
(a) 30,000, 22,500 (b) 3,0000, 1,8000
(c) 5,0000, 3,0000 (d) 4,5000, 2, 7000 B
(e) None of these







The ratio of incomes of two persons are 7 : 4 if the ratio of their expenditure

are 11 : 5. find the income of both person if each of them save 4500, ? a1 satwhat

AT AT T ATUTA 7:4 &, 37k W T ATUTA 11:5 &l 918 ST H & Tedah 4500
TATA & A1 ST ST Shi AT T hi?

(a) 12,000 70,000 (b) 21,000, 12,000

(c) 5,0000, 3,0000 (d) 14,500, 2,700

(e) None of these @
H.



The ratio of income of two persons is S : 3 and that of their expenditure
&
Find the income of each person/ If they save 1,300 and 900 respectively.

St Shl AT ST HTUTA 5: 3 ¥ W Ik 0T 1 ATATT 9: 5 gl Tedeh SAT<h hi
AT TG Hiferg) Al F FHA: 1, 300 3R 900 TATH F

(a) 4,000, 2,400 (b) 3,000,1,800 ¢ 1307 -
(c) 5,000, 3,000 (d) 4,500, 2,700 ————77"/ A 9
(e) None of these 3
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The ratio of income of two persons is 8: 5 and that of their expenditures is 5:3.
Find the income of each person. If they save 12, 00 12, 000 and 10,000 respectively.

#

g1 SAfRaT hi HATT T HTITA 8 : s%aﬁxuﬁ;mwmmﬁlmwﬁs
a?rmmaﬁr&muﬁam 12, oooaﬁnooooa-aﬁ%l

(a) 1,12,000 70,000 (b) 3,000, 1,800

(c) 5,000, 3,000 (d) 4,500, 2,700 &

(e) None of these




CLASS EXERCISE
Income of A and B are in the ratio S : 3 while expenditure of A and B and C are
in the ratio 8:5:2. if C spends 2000 while saving of B is 700 then find Saving of
A? A 3T B i AT 5: 3 & ATITA | § AaTeh A HR B 3R C &1 599 HAT9TA 8: 5: 2
o &1 af2 C 2000 @ wTaT #1 watew B 6 awa 700 a1 A S T=a qa hifea?

(a) 4,000 (b) " 3,000
(c) 15,00 (d) 2,700
(e) None of these




